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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —---------- -
by the keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be ---------—---- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3)mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ~—--------nnn-
to be used for the new dish.

| ) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was-so important that we decided not to bother about the
other —-—---ceceeeeee issues that were not much of a concern at that time.
1) gradual 2Y peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -------eeeeeeee puts off doing his
assignments-until the last minute.
1) spontancously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint ----eeceeeeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try to —-—-----n--— themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was -------------—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --—-----e--m-- , 48 you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can —-------—-—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) --——===-==——— the matter. The number of people that Earth can support depends on
(15) -========-=--—, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is.adapted
3) who are capable of adaptation 4) who are capable of'adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Some species from practically all phyla of animals produce toxins for either offensive
or defensive purposes. Some are passively venomous, often following inadvertent
ingestion, whereas others are actively venomous, injecting poisons through adapted
stings or mouthparts. It may be more appropriate to refer to the latter group only as
venomous and to refer to the former simply as poisonous. The chemistry of animal
toxins extends from enzymes and neurotoxic and cardiotoxic peptides and proteins to
many small molecules such as biogenic amines, alkaloids, glycosides and terpenes.
Although the study of the therapeutic properties of chemicals falls within the
province of pharmacology. essentially all therapeutic drugs can be toxic, at some dose.
The danger of producing deleterious effects to the individual depends on several
factors. including the nature of the toxic response, the dose necessary to produce the
toxic response, and the relationship between the therapeutic dose and the toxic dose.
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Drug toxicity is affected by all of factors that affect the toxicity of other

xenobiotics. including individual (genetic) variation. diet. age. and the presence of
other exogenous chemicals.
Even when the risk of toxic side effects from a particular drug has been evaluated, it
must be weighed against the expected benefits. The use of a very dangerous drug with
only a narrow tolerance between the therapeutic and toxic doses may still be justified
if it is the sole treatment for an otherwise lethal malady.

16- Through which system, is inactive poisoning by venoms likely to occur?

1) Vascular system 2) Urinary system
3) Respiratory tract 4) Alimentary canal
17-  According to the passage, a venomous pathway refers to -——-—---e-ee- --.
1) by mouth parts 2) the cardiac route
3) via neurons 4) through sting

18- According to the passage, the principal target organs for proteins of animal toxins are

1) peripheral and central nervous system  2) arteries and veins

3) bronchial tract 4) heart and central neryous system
19-  All of the following factors involve harmful effects of toxins EXCEPT s#m-meemeem- -

1) the nature of manufacturing components

2) applying toxic dosages

3) therapeutic and toxic dose correlation

4) the quality of the toxic response
20-  Which statement related to usage of a drug with toxic side effects is true?

1) It should be applied with caution:

2) It is not allowed and shauld beomitted.

3) It could be used onlyfor fatal discase.

4) It is used with eliminating its toxic components.

PASSAGE 2:

Antioxidants are substances that when present at very low concentration prevent the
oxidation of a molecule. It has the capacity to nullify the ill effects of oxidation caused
by free radicals in the living organisms. Free radicals are molecules that are extremely
reactive and either donate or extract electrons from neighboring molecules that it
reacts with. The unpaired electrons of these free radicals are highly reactive and
neutralize the harmful reactions of human metabolism. Some organisms such as
aerobics have an antioxidant defense system that neutralizes these free radicals. This
system includes both enzymes and non-enzymatic antioxidants that play an important
role in scavenging these free radicals.

Superoxide dismutase is an enzyme with a generalized presence in the body which
catalyzes the dismutation of superoxide. As a by-product of this reaction. hydrogen
peroxide is produced which helps to conduit in transmission of the injury caused by
free radicals. The human body produces an incredible number of reactive oxidants
such as hydrogen peroxide, superoxide and hydroxyl radicals. Although amongst them
the last seems to be the most catastrophic to the tissue causing destruction of the
adjacent cells. The enzyme Superoxide dismutase has three variants. The predominant
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copper-zinc containing enzymes are found in the cytoplasm while manganese SOD is
located in the mitochondria. A third type is present extracellularly.

21- All of the following statements are true about an antioxidant EXCEPT --eceeeeaaaeee .
1) it can exhibit the oxidation of any molecule.
2) it is a substance capable of neutralizing the harmful effects of free radicals,
3) it is present in cells, functioning to prevent the damage done by oxidative stress
4) It can be reactive against hydrogen peroxide
22-  Which statement regarding free radicals is in contrast with the passage?
1) They give electrons to the molecules that they react with.
2) They act as receivers of electrons from neighboring molecules.
3) They exchange electrons with adjacent molecules.
4) Their effects as products of metabolism are activated by antioxidants.
23-  Which function of aerobic organisms, is not compatible with following the issue?
1) Nullification of the ill effects of all organisms
2) Neutralizing the resulted free radicals
3) Detecting free radicals via non-enzymatic antioxidants
4) Removing free radicals through enzymes
24- Amongst the following reactive oxidants, which one has the most destructive effects?

1) Hydrogen peroxide 2) Superoxide
3) Superoxide and hydroxyl radicals 4) Hydroxy! radicals

25- The enzyme Superoxide dismutase is present in all-of the following sites EXCEPT
1) Nucleoplasm 2)Inside mitochondria
3) Cytoplasm 4) Between mitochondria
PASSAGE 3:

A biosensor is.an analytical device which converts a biological response into an
electrical signal. “The term'biosensor' is often used to cover sensor devices used in
order to'determine the concentration of substances and other parameters of biological
interest even where they do not utilize a biological system directly. Biosensors
function by coupling a biological sensing element with a detector system using a
transducer. The scientifically proposed initiated by electrochemical sensors as well as
commercialized biosensors for multiple analytes. The following statement is also
defined for the biosensor, “A chemical sensing device in which a biologically derived
recognition is coupled to a transducer. to allow the quantitative development of some
complex biochemical parameter.™

The advantages of biosensors include low cost, small size. quick and easy use, as
well as a sensitivity and selectivity greater than the current instruments. Biosensors
have many uses in clinical analysis. general health care monitoring. The most
popular example is glucose oxidase-based sensor used by individuals suffering from
diabetes to monitor glucose levels in blood. Biosensors have found potential
applications in the industrial processing and monitoring, environmental pollution
control, also in agricultural and food industries. The introduction of suitable
biosensors would have considerable impact in appropriate areas.
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26- Which item was the first scientific proposed biosensor(s) for different analytes?
1) Electrochemical and commercialized biosensors
2) Commercialized biosensors
3) Physicochemical biosensors
4) Electrochemical biosensors
27- The term “analytes™ refers to which of the following definitions.
1) All elements or parameters that are being analyzed
2) The action of analysis
3) Only elements that would be analyzed
4) Only parameters that are being analyzed
28-  From the first paragraph, which of the following statements could be implied?
'Biosensors' are being used for determination of --——--eeeev,
1) The amount of biochemical parameters
2) The quality of biochemical parameters
3) Both quantity and quality of biochemical parameters
4) Only commercial parameters
29-  According to the text, which statement is true?
1) Each biosensor should be used in its own field
2) All biosensors could be used in different fields
3) All biosensors are useful in medicine
4) Different sciences could use biosensors
30-  Which of the following titles is more suitable for this passage?

1) Biosensors 2) ‘Application of biosensors in medicine
3) Suitable biosensors 4) Electrochemical sensors
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